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Example 1—Check the Graph: ( ad‘jf\

What is the vertex of the graph of the quadratic function f(x) = X2 —4x+37

a. (-2, -1) @(2, -1) c. (-2, 1) d. (2, 1)

Practice:

1. What is the vertex of the graph of the quadratic function f(x) = x*+2x+17?
a. (0, -1) ( b.)(-1, 0) e (1,4} d. (0, 1)

2. What is the vertex of the_graph of the quadratic function f(x)=3x*-12x+97?
a. (-2, -3) @ 2, -3) c. (-2, 3) d. (2, 3)

3. What is the y-intercept of the graph of the quadratic function f(x) = x? —4x+37
a. (3, 0) b. (2, -1) (\go 3) d. (2, 1)

4. What is the y-intercept of the graph of the quadratic function f(x)=3x*-12x+97?

7\
/a3 - =
(ay(0,9) b. (9, 0) c. (-2, 3) d. (2, -3)
Example 2—Check the Graph: it 1
e 1z — Fnd LSRR 9"0
What is the solution set for the quadratic equation x*-16=07?
——
a. {4} B}-zx, 41 c. {2563} d. {-256, 256}
L S =0
Practice: <A Jx_r_}\ ()L/ \7
1. What is the solution set for the quadratic equation (,
a. {3} @{-3, 3} c. {81 d. {-81, 81}
2. What is the solution set for the quadratic equation 3x*-12x+9=07
a.{2, -3} b. {2, 3} @1, 3} d. {1, 0}

3. What is the solution set for the quadratic equation -4x* —28x — 48 =07
a.{-3, 0} b. {-48, 0} c. {-3.5} ( d.\{-3, -4}
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Example 3—Check the Table:

The population of a town is currently 9,000. The function p = 9,000 + 8t* can be used to

estimate p, the population of the town t years from now. Based on this function, which
statement is ‘true?

a. The population of the town is will increase by 200 people in 5 years. /
b. The population of the town will reach 10,000 between 11 and 12 years from now. \//
c.)The population of the town will increase by 256 people two years from now. X

. The population of the town is increasing from now until 15 years. v

—

Practice:
1. The graph of the quadratic function h passes through the points (-4, 32), (3, 4), (5, 14),
and (7, 32). Which of the following shows the same relationship as h?

a. hO)=x*+3x+4 @h(x)=x2—3x+4 c. h(x)=x*-6x+13

2. Which set of ordered pairs contains only points that are on the graph of the function
y =12-3x7?
A. {(-3,-27),(0,0),(6,54)}
B. {(-18,10),(-6,6),(18,-2)}
(D {(=5,27),(-1,15), (8, -12)}
D. {(-7,-9),(-4,0),(2,18)}

3. Which table shows the same relationship as y = —-x* + 3x

/
A. X 2/ 1-1 Jo 1 |2
y -2 [-2 |0 4 10
is
B X -Z |-1 |0 1 2
y 2 |-1 |0 1 1
(
C. _
(-‘ x -2 [-1 |o 1 2
y -10 [-4 |0 2 2
/
D X -2 |[-1 Jo 1/ [2
y -10 |[-4 |0 10

TR
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Example 4—Check the Table:
jsT \
Simplify the following expression: _D Q -
/r
N N A - 7

331 0.25(~4d +8) -5(d +8)

~ Answers:
A. -4 38
-
_ v Sl

Practice:

1. Simplify the following expression:

4(2x - 4)—(x +6)

Answers: >
Wz 7x—22 C. 7x-10

2. In which step below does a mistake first appear in simplifying the expression
0.5(-12¢ + 6) - 3(c +4)+10(c-5)?

Step 1: —6¢ +3 —3(c+4)+10(c - 5)
Step 2: —6c+3-3c-12+10(c -3)

Step 3: g@ﬁ’@ 12610} 50
¢ e
£ <ot
3. Which expression is equivalent to -6x* —11x — 4?&1

Y4 A Bx+7)(3x-3)

Lj _L.B (Bx+4H)(2x -1)
L €. Bx-7)(3x +3)

2 P (3x -4)(2x +1)
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Example 5—Check the Graph:
A graph is shown below.
%I, Tv

J\ A ) -
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Which of the following equations is represented by the graph?
a. y=§$<+6 b. y=(x+6)(- 2x+1) r

/’;D
rapo )
Practice: W

1. The graph of y = 3X( is shown below.
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If the constant is changed from -2 to a positive number to create a new function, how
will the graph of the new function compare with the graph of the original function?

a. The y-intercept of the new graph will be the same as the y-intercept of the original
@ graph.

The vertex of the new graph will be different from the vertex of the original graph
C. The new graph will be narrower than the original graph

d. The new graph will open in the opposite direction as the original graph
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2. The graph of line p represents y = lx —1. If the slope of line p is multiplied by -10
5
to create line r, which statement about the graphs of the two lines is true?

@ Line r intersects line p.pxé( le . _Lé-'lo\) X -~ \

b. Line ris parallel to line
c. Line ris 10 units above line p
d. Line ris 10 units below line p.7<

3. If the graph of y =9x +4 is trw, which equation describes the
new graph? )

Gx ¥8

a. y=13x+38 b. y =13x +4 @=9x+8 d.y=4x+14
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Example 6—Graph It: \(\ : JVO%
7
Which coordinate pair is in the solution set for y <1-6x7?
e v
A (1,0) (j LT
B (1,-1) 40 Shad-—
< L
C (0, 1)
D ('11 1)
v
Practice:
e
1. Which coordinate pair is in the solution set for y >2x -37
y
F 3
A_(1774)
; B/szﬂ)///

2. Which coordinate pair is in the solution set for y > —x?

A r ”4)

B (2 [}(\/\J’—‘_,QAVQ/ e
€ (0.9 o~ N8 L - "X
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Example 7—STAT, EDIT:

When the air conditioner’inside a car is turned on, the temperature inside the car
decreases at a cons.tﬁia%e—«. The table below shows the temperature t in degrees
Fahrenheit m minutes after the air conditioner is turned on.

Number of Minutes After Air Temperature in Degrees
Conditioner is Turned On Fahrenheit g B
2 80 A~
4 75 S
8 65 b =&
10 60w ~
I 8= ™

Based on the data in the table, what is the temperature inside the car when the air

conditioner has been turned on for 11 minutes?
TS e s [51.6°]
= =72 s () +57 5 L 6 Z

Based on the data in the table, what was the temperature inside the car when the air

conditioner was first turned on? e
\,Q/V{/‘—. j % 5 i
(/LJ — O = ___,,,._..;;.7~¢ E——

Practice: X~ l-é/i\'\'}’

1. A weightlifter is adding plates of equal weight to a bar. The table below shows the
total weight, including the bar, that he will lift depending on the total number of
plates on the bar.

Number of Plates (O Total Weight in pound& i}
2 115 N -0 _’35
3 85 o0 Ag T
6 255 T
8 325 i ‘g
. . . _ )
Based on this information, which statement is true? "

a. The bar weighs 35 Ib without any plates.
b. The bar weighs 70 Ib without any plates.
@The bar weighs 45 Ib without any plates.

d. The bar weighs 25 Ib without any plates.
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2. Mario plans to put his first paycheck into a savings account and add a certain fixed
: odEEflal e

amount each month to save for a car. After a few months, he decided to make a

~table to keep track of his balance in the account. Below is the table Mario created.

Number of Months Account Balance
3 455
5 545
6 590
9 725

Write an equation to represent the total account balance a for any number of

months, m. & = 1—45 ~y v %%O

What was the amount of Mario’s flrst paycheck? }

BRIC
e | 8329

If Mario incr d his rate of deposit by $10 . each mont____hu how much money wou!d
he have @vths? = S5%m +32 Y g

O ~BS(y + 3230
= $Q8O
3. As scuba divers descend, the pressure of the water increases. Scuba divers can
determine their depth by the pressure. Pressure can be expressed in
atmospheres. An atmosphere is equivalent to 14.7psi (pounds per square inch) of
pressure. The table below shows the relationship between atmospheres of
pressure and ocean depth.

Depth of Ocean (feet) {033 66|99 132

% Pressure (atmosphere) |12 13 |4 |5

| S [Opf. .
What is the rate of change in this situatiop2—"""




